Challenge 1

Q Solution Marks | Total Comments
3() | C, =42 Bl
C,=10+8+14+6+ 10 M1
=48 Al 3
(b) 8 0 108 20
6 810
8 2 42
14308 044 £ 16 4 8 0 8 4
14 0 4 62
6
4 N 610
6 0 106 40
M1 SCA ™
M1 1 flow
M1 2nd flow
Al Ist >' OE
AlF 2nd
Al all correct
L
Max flow =28 Bl 7
Total 10




Q Solution Marks Total Comments
4(a) | C, =40 Bl
2=33 Bl 2
(b) 10 I{]H
10 4 \ 10 i
2 Al 2
10 10
5
] S ®, 74
10 10
(c) lQ I{]\L
== e MI
vl AV
0
10 _ - 10
-
10 10
Max flow =20 Al 2
a
(d)(i) 0 .0
10 5, 5 5
10 5 A 10
MI
5 *,
10 2 0
10 10
Max flow =25 Al 2
(if) | Min cut=25 Ml Attempted cut
Min cut = Max flow Al 2 Correct cut GH ,GJ, IJor (C,— EH)
Total 10




Q Solution Marks | Total Comments
4 (a) e X
MIl for Sand W
Al 2 for five arcs correct (=)
(b) | SADYW =10 Bl
SBEZW =6 Bl 2
{e)i)
Mi for starting with SADYW, SBEZW
MIl SCA
Al for AC
2 4 Al for 84
Al for SB
Bl 6 OE
(ii) | Maximum flow = 48 MI
Minimumemt CX. YW, EZ
(9 (33) (6) Al 2
=48
Total 12




